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DIMENSION L o
- - tH=lak M
FExchs | areaz | a1z H H SPEED | WOTOR | Z&tcHZ= | at+az | a1vesz H H SPEED | HOTOR
18CH 5300 | 12800 | 18400 | 22700 45CH 34650 | 44100 | 44150 | 54200 Lsias
18cH 11550 | 14vo0 | 21050 | 24800 ancy 38300 | 48200 | 45800 | 58300 | 7Smmin | 30k
2004 13200 | 18800 | zzroo | 2smo0 504 37950 | 48300 | 47450 | 58400
2204 14850 | 18300 | zasso | 23000 5208 3sso0 | 50400 | 43100 | BOSO0
2404 18500 | 21000 | zeooo | 31100 54r4 41250 | 52500 | 50750 | B2800
2804 o150 | 2300 | 27850 | 33200 SACH 22900 | 52800 | 52400 | 64700 |9ommin | 45kw
2acH 19600 | 25200 | zsgoo | 35300 | 45wimin | 22kM 58CH 44550 | se7o00 | 54050 | BBGO0
a0cH 21450 | 27300 | soes0 | 37400 BoCH 45200 | 58800 | 55700 | B8A00
320 23100 | 29400 | szs00 | 39500 B 47850 | 50800 | sv3s0 | 71000 2150
34CH 24750 | 31500 | 34250 | 41600 B4CH 3sso0 | B3000 | 58000 | 73100 g
38CH 25400 | 33600 | 3ssco | 43voo BBCH 41250 | B5t00 | soesa | 75200 1
128m/min | 45kH
380y 28050 | 35700 | arsso | 4seo0 BaCH 42900 | 67200 | seso0 | 77300 y=1900 1900
4004 29700 | 37800 | 39200 | 47900 7ok 44550 | 69300 | 83950 | 79400 )
Z| B 2200Kks
4204 31350 | 3msco | 4oeso | 50000 7208 4200 | 71400 | 85600 | 81500
TEm/min | 30K
4404 33000 | 42000 | 4zs00 | 52100 « BES PIT=1.200mm /17D WES(180°.80°) PIT=1,500mm
* H(80°) = H + 600 » HaE OH = 3000mm
 Z 4 OH = 2600mm




